14 The Speed of one tram exceeds twwe the speed ‘of

~another by 30 mph. If » mph is the speed. of the slower - ..

- - train, which of the following: exPresses the speed in-
o _‘mlles pet hour, of the faster tra1n‘7 ‘ : .
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27. John Jones has decided to go into the business of pro-
ducing and selling boats. In order to begin this venture,
he must invest $10 million in a boat production plant.
The cost to produce each boat will be $7,000, and the
selling price will be $20,000. Accounting for the cost
of the production plant, which of the following expres-
sions represents the profit, in dollars, that John will
realize when x boats are produced and sold?

A. 13,000x — 10,000,000
B. 27,000x — 10,000,000
C. 9,973,000x
D. 20,000x
E. 13,000x



54. As shown below, rectangle ABCD 1is divided into
2 large squares (labeled L) each x inches on a side,
15 small squares (labeled S) each y inches on a side,
and 13 rectangles (labeled R) each x inches by
y inches. What is the total area, in square inches, of
ABCD ?

B
L R|R|R|R|R
L R|R|R|R|R
R SIS|IS|S|S
R SIS|S[S|S
R SISISIS|S
D C
F. 2x + 13xy + 15y
G. 6x + 16y
H. 2x* + 15y
J. 2xX*+ 8xy+15y°
K. 2x*+ 13xy + 15y°
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5. An earring manufacturing company has fixed costs of
$10,000 per month and production costs of $0.60 for i : -
each pair of earrings it makes. If the company pro- 77 XD 62}7:; 7 Var /’Vé//— Cox.
duces x pairs of earrings in a month, which of the fol-
lowing expressions represents the total of the
company’s monthly costs?

$10,000x g/ﬂ/ﬁa? ‘/_ﬁﬂ, éﬂ K

A.

B. $10,000 + x " s
C. $10,000 + $0.60 , il -5 Heplrip's O
D. $10,000 -+ 50.60x Fxeo iy sy M

($10,000 + $0.60)x -72} ves, RewT eTe




3. To attend the Press Club Annual Banquet, members WW?WW

- pay $40 per ticket, while nonmembers pay $50 per 75 P o é / £ty S 0/ VE
ticket. What is the revenue, in dollars, from the tickets : '

when 100 member tickets and » nonmember tickets are

[} DUy Frice pPer ﬁc/\/}ef bmes Number 7F

. + 100
B 507 + 40(100) Tickets Seld €Fuals ToZal feVericé

g. 50(n + 100) : ,
2 & 990(100) + 450 0) = Sor + Yoliee)




